











































































































Recall
Oetine solving differentialequationsusing

LoploreTransform

STEPI Startwitha differentialequation
STEP2 TaketheLaplaceTransfornofboth

sides
this replacesthedifferentialequation
with a muchsimpleralgebraic
equation

STEPI Solvethis equation
STEPI Simplify theresult't

requirespontialfraction
decomposition

STEPSITakethe inverseLaplaceTransformof the result

STET Thisgives thesolutiontotheoriginal
differential Equation



Find the Inverse LaplaceTransform
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Is this true
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